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nmw
®) 5
Explanation:

nm

8

(b) isosceles
Explanation:
isosceles

(a)x2+y2—2x+2y-23=0
Explanation:
X2+y2-2x+2y—23=0

(@) x> +y?-18x - 16y + 120 = 0
Explanation:

X2+y2-18x-16y+120=0

(d)0.23<P(BNC) <048
Explanation:
023<PBNC)<0.48

(0) (79)? 3\/7

Explanation:

(79)? 37

(b) 8000
Explanation:
8000

(b) 120
Explanation:
120

(c) Is given by zTH’
Explanation:
Is given by %ﬁ

(1
Explanation:
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(¢) f(x) is continuous at x = 0
Explanation:
f(x) is continuous at x = 0

(d) 72 is not divisible by 2 or 72 is not divisible by 3.

Explanation:

72 is not divisible by 2 or 72 is not divisible by 3.

@1
Explanation:
1

(d) 144
Explanation:
144

(d) sin (Cos'1 x) = cos (sin’! X)
Explanation:

sin (cos'1 X) = COos (sin‘1 X)

@3

Explanation:

V3

(b)b?=a?+c?-ac
Explanation:

b2=a?+c?-ac

() xyz
Explanation:

Xyz

(@e-2
Explanation:
e-2

M) 3
Explanation:
1

3
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21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

(b) 2 + log, (£)
Explanation:
2 + log, (%)

©2

Explanation:
(e}

6

ik

Explanation:
ik
V3

(c) Collinear
Explanation:
Collinear

@a=32,b=—1,c=
Explanation:

5 1
a=g5,b=-lc=3

(@ -7
Explanation:
-7

(a) 9ab
Explanation:
9ab

(b)3
Explanation:
3

@1
Explanation:
1

(b) 600
Explanation:
600

(d) _ 2%

1+edz
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32.

33.

34.

35.

36.

37.

38.

39.

40.

Explanation:
9 eZz
1+ede

—T
©
Explanation:

—T

Y

90
Explanation:
0

1—y6
1—26

CCZ
(9] 7

Explanation:

2 [
y2 \/ 1-26

(C) (2: 16)’ (_21 _16)
Explanation:
(2: 16): ('2) '16)

(a) 13
Explanation:
13

©s
Explanation:
s

(b)a=— % , b = arbitrary constant

Explanation:

a= —% , b = arbitrary constant

1 -1 ( tanz—1 _1
(b) 5 tan (—¢m) + 25 lo

Explanation:

V2 V2tanz 22

(b) 2y/tanz + ¢
Explanation:

2/tanz + ¢

L tan! (—tam_l) +-L-1o

8

tanz—+/2tanz+1

tanz++/2 tanz+1

tanz—+/2tanz+1 }

tanz++/2tanx+1
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41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

1
0 3(53) " +e
Explanation:

1
4 (z-1\71
3(w+2) T

(@4
Explanation:
4

(©x%+y2-6x-7=0
Explanation:

x2+y2-6x—7=0

(b) [1+ (%)3] —4

Explanation:
2
|:1 * ( dz) :| =4 da3

@y-= 2sin?x + Cos X - 2
Explanation:

y= 2sin?x + os X - 2

(b) 0.1
Explanation:
0.1

40
@ 5
Explanation:

40
49

(@8
Explanation:
8

(b)2,1
Explanation:
2,1

®) 3
Explanation:
4

3
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